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Instrucﬁons for Candidates

.  Write your Roll No. on the top immediately on receipt

of this question paper.

2. There are eight questions in the question paper.

Answer ‘any six questions.

3. Al questions carry equal mark.

4. Answers may be written either in English or Hindi;'

but the same medium should be used throughout the
paper
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(a) What is Macroeconomics ? Explain the different

Macroeconomic issues in detail.

(b) What are the important consequences of the

differences in the classical and Keynestan views?
(10, 5)
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' ing used in -
(a) Define private saving- How private savi g

the economy ?



1412A | 3

(b) Discuss the Expenditure and Income ZlPPmaCh to

measuring Gross Domestic Product (GDP). )
(5,10
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3. Suppose the consump'tibn function is given by
C = 100 + .8Y, with no government while investment
is given by I = 50.

(i) What is the equilibrium level of income in this
case ? | el

(if) What is the level of saving in equilibrium ?

(iii) If, for some reason, output is at the level of 80¢
what will the level  of in-voluntary in"ven‘tor;

'a'cc‘umulation be ?

(iv)If investment (I) rise to 100, what will the effect
be on the equlllbrlum income?

(v) Draw a diagram indicating the equilibria ip bot}
' 1
(a) and (d). | (1s)
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(a) How are desired saving and desired consumpt1on
affected by increases in current income] expected

future income, wealth and changes in real interest
rate ?

(b) Explain the concept of Money Multiplier. (10, 5)
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Described by the following functions:

Consumption Cc=50 + .8YD.
Investment 1=70
Government Expenditure G= 200
Transfer.s | | TR= 100

tax rate | | | t= .20

(i) Calculate the equilibrium level of income and the
multiplier in this model. '

(ii) Calculate also the budget surplus, BS.

(111) Suppose that t increases to .25. What is the new
equilibrium income? The new multiplier ?

(iv)Calculate the change in the budget surplus, Woulg
you expect the change in the surplus to be more

P.T.o
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6.

What are the determinants of demand for money
Explain hOW the demand for and supply of Cemral
bank money determines the equilibrium interest rates
1n an economy with currency and checkable depos‘ts

Explain using formal analysis and diagrams. (15)
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(a) What is the difference between intermediate and
final goods and services ? Why is the distinction
between intermediate and final goods important.

for measuring GDP ?

(b) How is the rate of interest determined by the
' demand and supply of money ? What happens to

the 1nterest rate if:

(i) Nominal income increases.

(i) Money supply. increases. 5,10)

P.T.()_
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8. Explain the followings:
(i) Monetary Aggregates

(11) GDP Deflator - \

(iii)The'Desired Capital Stock and the User Cost of
| Capital | Sei i sie (18)
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